Installation Procedure SF2050-T-S

l.Accessories List

S 7 B @%®@ OO

@ Panel @ Pedestal @ Holder @ Thread seal tape Water outlet joint @ Rubber washer Mesh gasket

=

e ey TR ) £ 5

(9) Hook Flat screw M4*10 (1) ScrewM5*35 (12 Screw M4*14  (13) M5 wall anchor Hot-cold inlet fitting

J N = M@ @ VA

@ Decorative cover Hose @ Levelling instrument Hand shower Shower head Mounting bracket @Shower column
(= “~ > TPy E Es

@ Decorative O-ring @ Hexagon wrench Inner hexagon screw @ M4 wall anchor . Screw M4*35

. 8 .
| [ 5. 5m (Qb/
e
: g @4
K
g | ® 5. 5mm
|
I
372mn
Ym_ 171m'%’ &Y | .1m,
;ﬁ&‘“m“) H 3 ) ; |
o c»/Hot Cold <
1 ''2

1.Drill 6 holes according to the drawing
2.A.Insert wall anchor (13) inside the above drilled hole,Tighten the screw (11) to the wall for
fixing the mounting bracket (20)
B.Wrap the thread seal tape (5) on water outlet joints (6),Screw the water outlet joint (6) to
the hot/cold water inlet on the wall
C.Insert wall anchor (13) inside the above drilled holes,Tighten the screw (11) to the wall for
fixing the pedstal (3),Put the leveling instrument (17) on the pedstal (3),keep it balance




